PAPER -1

(COMMON FOR ALL SUBJECTS)

Note : This paper contains sixty (60) multiple choice questions, each question carrying
two (2) marks. Attempt any fifty (50) questions.

Moy : @esilamggrer L Ceumul L elenseer (multiple choice) 2 eLw mug (60)
Mammsasemars Garar@hererg. eeaboumambgd @ream® (2) wHiCueansdr. gCseib
gobuig) (50) eflermas@nd@ eflenLwartl&se L.

1. TV is related with
1)  Chain learning
2)  Principle learning
3)  Reflective learning
4)  Concept learning

QgrenvssT & QgL 6T (ST jenL g
1)  Qsr_ibg sHmed

2)  Osrdtenss smmed

3) Grduediiy spped

4)  FHESSTESE SHHO

2.  The phrase “Teachers are born, they cannot be trained” indicates that
1) Teaching method can be learned
2)  Teaching is empirical in nature
3)  Teaching is innate in nature
4)  Itis a result of maturity

“ANwrser Upspriser, 2 (heurssliLheudloema’” erarn &HSg GDILLA(Houg)
1) snlsse (pappmeps HHs (LPlguid

2) L9556 DeniLIeUD FTTHSI

3) SNBSS 2 ETeTTIhSS (&0

4)  @s wpHreHulen efleneray

3.  The best use of Heuristic Method takes place in
1)  Science club
2)  Classroom teaching
3)  Excursions
4) Exams

sl (penmuller &g AmpHg LiweTm(h
1) dlellwe wermid

2) aEluop sHEUSSM

3)  &HmeoT

4)  CGarejser
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4.  Arrange the following steps of research in correct sequence

(a) Identification of Research Problem
(b) Listing of Research Objectives

(¢)  Collection of Data

(d) Methodology

(e) Data Analysis

(f) Results and Discussion

D @-Mb)-(@)—(@)-()-® 2) @-0O-d-0-(€-0
3) (b-(@-()—(d)-()-® ) b)-(@-[@-(C)-(€-0
emaumid prmiéd anflipapsear sfwnar (papidd auflesiin(ass

@)  eprmiEd Apsfoansaar @)arhisTama

(b)  opymiss Crrésmsmar LUl el

© ssaud CosMssd

@  Gsiigpanp

()  SISMETLI LGSSTiIgm

®  ryeysdr wHmID SToTeThEET

D @-MG)-0-Wd-(-0O 2) @-b-W-@-(€-0
3 O-@-©@©-Wd-(-0 ) b-@-Wd-0-(-0
5.  The final result of a study will be more accurate if the sample is

1) Taken randomly

2)  Fixed by quota

3) Representative to the population

4)  Purposive

il Géieumn Qb @ ele Qnidl iyl Blseab giodlunns QnsELb
D &rop

2) 985806 wab

3)  wa&ser Agrensuder 9rSHHlSHuins

4)  Cpréss sam
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Signal learning is associated with

1)  Pavlovian conditioning
2)  Operant conditioning
3)  Skinnerian conditioning

4)  Recitation

G&MUIL g6 epeoid EHPGeM(H CgTLTLenLwig
1) ureuGemellwen HleneoBlmissn

2)  Geweou® %ss Hlaoeblnsso

3)  avdlanarfler HlenevBlmissLd

4)  @uueilsze

The research antagonistic to ex-post facto research is
1)  Experimental studies

2)  Normative researches

3) Library researches

4)  Survey Researches

ergen — Gumevl GUEGLT L TmLFS &S erdlrmeang,
1) ufGsrgemen < uie ser

2)  @UEE QoD e

3) BTS2 UIe ST

4)  SeTeumlie|ser

What do you consider as the main aim of inter disciplinary research?
1)  To bring out holistic approach to research

2)  To reduce the emphasis of single subject in research domain

3)  To over simplify the problem of research

4)  To create a new trend in research methodology

Legienn L rmiFfufer padlu Crrasbd eran Bhiser crensd &(hgd Hraar?
1) <rmusSuden wppenowiner e papen GeuaflstlaramTmse
2)  Yrmigs erevaneoudled gmenm LML LD (PSS LISFHIISMS &DEHSHE

3) yymiEsl Grsflenansener eraflenoliLi(HSHe

4)  rmiEs wenpuler 4w CuTEemns 2 (Heumsse
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9.  Who evolved the term hypertext?
1)  Garfield

2)  Bill Gates
3) Ted Nelson
4)  Raj Reddy

5 2 engepws H UL L g wimr?
1) smmio®

2 9HCsL 6w

3) QL Qg

4) ey Griig

10. The biggest obstacle in the way of communication in a class is
1)  Excess of noise in a class
2)  Lack of teaching aid material
3)  Vagueness about the content of the teaching

4)  The noise out of class and other obstacles

aELL®DUID SHe16 LNLIHDESDHE WeELAL SeLwims §HlLg)
1) augluampulld oerelsE iHsnns &550(heug)

2)  Gurgiwrer &Hisse0 smellsdr @ daonsg

3)  snlgseme upHw Curgiorer Mg @dansg)

4)  aEluomnse Aaueluid Hlaoa)b b wHND GsT SmL_s6

11. What is FORTRAN?
1)  Software
2) Hardware
3) Company
4)  Programming language
FORTRAN erenpmév erevmen?
1) QuerG@ummar
2)  euen@ummer
3)  Hmeuard
4)  dlyeorss Glomyl
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12.

13.

14.

Find odd man out
1) Geometry

2)  Algebra

3)  Trigonometry
4)  Mathematics

9 enaumeiaaun Bl QUTmHSTS QsTdmas Srems.
1) ecuemredwed

2  GhssasaL®

3) wp&Caranreliwied

4)  saflgeilwe

Find the odd man out
1)  Tortoise

2)  Duck
3)  Snake
4)  Whale

Getreu(peuareupiled QUTHBSTS CFTLMEE HTeTs.

1)  <yew
2) gz
3)  umby
4)  Humseb

Which of the following diagrams represents the relation between Criminals,
Murderers, and Thieves most appropriately?

» QI » OO0

» (&) )

EpGaramid cuaruLmIGale) ehgs UL @Gdoeureaisdr, Qsranestrrsdr, $(HLT6@EhEE
@eLullerer 2 peneld samdmg)

v (00 JOl0l®

s () 9
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15. A father is now three times as old as his son. Five years back, he was four times as old
as his son. The age of the son is

n 12 2) 15

3) 18 4) 20

@(H SHMNG 6 DS G Gumeo QOGITMI LOL_MBI(E, GUUISTETEUIT. SRb&l 6uU(HL_Thl&(@h&@E (LPETL| eI
&HeaT 6L BremE L MkiE alwg Cuflweurrs @ mbsTT. waeflen auwig) eTere?

1) 12 2) 15

3) 18 4) 20

16. Select that lettered pair that expresses the relationship that is most similar to that of
the capitalized pair.

WATER : ICE : : STEAM : .
1) Heat 2)  Water

3)  Boil 4)  Fire

Quilu  erpsdler Qar@hssuul_(hearer Cmmg  UTTSMSHEHEE @SssTar  Comgulamans
Compels 058l aThsis.

gerenti : uesdl : : Brmed :

1)  Qeuliud 2)  sementt

3) Qsrd 4)  Qmpmiy

17. Directions : For the Assertion (A) and Reason (R) below, choose the correct alternative
from the following :

Assertion (A) :  Silver is not used to make electric wires

Reason (R) : Silver is a bad conductor

1)  Both (A) and (R) are true and (R) is the correct explanation of (A)

2)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
3)  (A)is true but (R) 1s false

4)  (A) s false but (R) is true

Sangger : (A) audymissed (R) eranug) srpand erafiled sflwnar ellevLamws Csib6sHSs)
T(PGIS.

aualumsse (A) : eTosl Mg Ceumuisdr o (heurs@eugn@ Geudtaflepwi  LiweTU(HSgieug
@dene.

smrentd (R) : Qeuerefl gp(m Comgomen HL_GS.

1) A)-yb@®)-=2b2amew wpmbd (R) eramug) (A) — §@ sflwrer ellarésnd

2) A —uybd R) - 2b 2 areno yermed (R) ereruig (A) — &@ sflwner eflerdEsid ojee

3) (A eraug 2 arenio yemmed (R) eraig) seum

4)  (A) erag) 2 arenid e armed (R) eremuig) o arenio
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18.

Which of the following argument is logically strong based on statements given below?
Statement : Is unemployment allowance justified?
Argument : I Yes. It provides financial aid to the unemployed youth.

II.  No, it might promote idleness among the unemployed youth.
1) Ifonly argument I is strong 2)  If only argument II is strong

3)  If either I or II is strong 4)  If neither I nor II is strong

e b efleunsmisaetled eThs gmmm 2 miSlwimerg)?

FaMm) : Couanad @ mEelTaEhs @ aUphISLILIHD 2 56456gmams Bluimuwm?

efleumgid : I <1d. @5 Ceuanaudlebavr @ enem@hiTaEhsd; Hld 2 seilanit aulpmbi@Eng).
II. Qdow. Qg @amereyisafler wsHuldr CambGLflsSeasams aeTTéE.LD.

1)  efeurgd I bl Hib 2 pHurarg 2)  &fleursbd II bl Hb 2 pflwirerg)

3)  aleursbd I =icvevg) I 2 mdluirerng) 4)  efleurnsd I wopmib IT 2 pfluins Gerana

» Study the following table and answer the questions No. (19 — 23) based on it.

Number of Candidates appeared and qualified in a competitive examination
from different States over the years.

> demeumd S Leuemantenl Lilgsgill e semean gLl wnsd  Ggrea(h
(19 — 23) auemquilerear clamss@EnsE el walldsen. LoCaim wmlonigatl
@mbg  QeueuGeoum  eumpLmsefles  Cumiiguill.  wHmbd @&  CQuow
Cumiguirerisefler eramanflEamsamuis SmEAmG.

State/
oBlavid)

Year/ougmL b
1997 1998 1999 2000 2001

|Appeared/|Qualified/|Appeared /|Qualified /|Appeared /|Qualified /|Appeared /|Qualified /|Appeared /|Qualified /
Gumiy 568 Guriig 568 Gumiyg 568 Guriig 563 Gumiyg 568

5200 720 8500 980 7400 850 6800 775 9500 1125

7500 840 9200 1050 8450 920 9200 980 8800 1020

6400 780 8800 1020 7800 890 8750 1010 9750 1250

8100 950 9500 1240 8700 980 9700 1200 8950 995

H|IQ|Q|m|»>

7800 870 7600 940 9800 1350 7600 945 7990 885

19.

Total number of candidates qualified from all the States together in 1997 is
approximately what percentage of the total number of candidates qualified from all
the States together in 1998?

1) 72% 2)  T7%
3)  80% 4)  83%
1997 < yar®h  s@HUCuDn marsg  wrbloksmerud  Carhy Cbrss
Cumlgwreriseiien eramentiansuyd 1998 @b Yyeawrgen  HGHUCGUDD  AmeTSF)

wrflokismaryb Cambs Quwrgsls Curywrerisaflen cramaflsmas@n Camwwrear #5650
GTEUGUETER?

) 72% 2) 1%
3)  80% 4)  83%
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20.

21.

22.

23.

What are the average candidates who appeared from State D during the given years?

1) 8700 2) 8760

3) 8990 4) 8920

Qar@ssiul L. garhsafled wrilon D-& @mbg Cumiguill . Cumiqurearisefler syref
CTERTENN 1SS GTElEUETE?

1) 8700 2) 8760

3) 8990 4) 8920

In which of the given years the number of candidates appeared from State C has
maximum percentage of qualified candidates?

1) 1997 2) 1998

3) 1999 4 2001

Qarssiul L o arhsaile, eThg <y $&FH uppersaien sgoeldssd o ids wHiiamu
wrBlewn C QubmeTerg)?

1) 1997 2) 1998

3) 1999 4) 2001

What is the percentage of candidates qualified from State B for all the years together,
over the candidates appeared from State B during all the years together?

1) 12.36% 2)  12.16%

3 11.47% 4 11.15%

orblow B Oerhsésiul omarsgs  arhselld 5@HupneisEnsEn
Cumligwimenis@h&E LD 2 6Ter F56485 IS SremTs?

1) 12.36% 2)  12.16%

3) 11.47% 4)  11.15%

The percentage of total number of qualified candidates to the total number of
appeared candidates among all the five States in 1999 i1s?

1) 11.49% 2)  11.84%

3  12.21% 4)  12.57%

1999 gmg wmhlomisaigid Cumiigurerisefer carailsmasEn @& 6LDDaTsefe
CTETENT HEN &S GLD DAeMDBS FHEMSG IS STeanTs.

1) 11.49% 2)  11.84%

3  12.21% 4)  12.57%
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24.

25.

26.

A family consists of six members P, Q, R, X, Y and Z. Q is the son of R but R is not
mother of Q. P and R are a married couple. Y is the brother of R. X is the daughter of
P. Z is the brother of P. Who is the father of Q?

1) R 2) P

3) Z 4 X

em gohbusded P, Q, R, X, Y wimibd Z eaeadleam <mn o plbamsdr o drerart. <idld
R epeonw waer Q. <yarmed Q enyenw obwr R Hleorwrg. P wyd R b SHmwentorer
sbudlsar amisear. R et w sCGasrgrm Y @b, P ayentw waer X @b, P apenw
sCaMgTT Z sa|b @ MmbsTe Q eenl i i wryns @) muumm?

1) R 2) P

3) Z 4 X

Which one of these is a type of viruses?
1)  White hat

2) Red hat

3)  Black hat

4)  Internet worm

@eupmled T8l MEUTED UMEEWIF FTTHSI]?
1)  eu Canl_

2) Qi Gam_

3)  Yerré Gamt-

4)  @err@pEL eumbd

MOOC stands for

1)  Media Online Open Course

2)  Massachusetts Open Online Course
3) Massive Open Online Course

4)  Myriad Open Online Course

MOOC e eflfleumsasd

1) Media Online Open Course

2)  Massachusetts Open Online Course
3) Massive Open Online Course

4)  Mpyriad Open Online Course
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27.

28.

29.

Which one of the following is not a matter of a global concern in the removal of
tropical forest?

1)  Their ability to absorb the chemicals that contribute to depletion of ozone layer
2)  Their role in maintaining the oxygen and carbon balance of the earth

3)  Their ability to regulate surface and air temperatures, moisture content and
reflectivity

4)  Their contribution to the biological diversity of the planet

Qautiuflened srhsmer SsHMSD GNSS 2 srelu &Esmn CFQISHHl0 ST oThs
aetT) Ol LIM(BERTEnLD 6T ?

1) Cadu@Qummmlgamer 2 M@hsl lFrer UL wdamss G@mDE@ELD SemenLo

2)  ogen gmen LBlulle o drer y,sedleen HmiD STTLEenE FoBlanauild aneudhEin

3)  Qeuafl wpmd smHdler Qeuliuflane, seamant™ jarey LHMD THATTOEGL Semanio
S Flweupenng gfl Qguieg

4)  vCeum 2 uifemmiger L lufled aumpeusn @ @eummlen LimigafliL

Tsunami occurs due to

1)  Mild earthquakes and landslides in the oceans
2)  Strong earthquakes and landslides in the oceans
3)  Strong earthquakes and landslides in mountains

4)  Strong earthquakes and landslides in deserts

<A Curene eTgarmed Hlapsmg)?

1)  CGasrer flophashd womib Blogsfe supsdlrsslea enubelsme

2)  shewwrer HlobHssd womib Hlodsfey supssrsdea ehubeusme

3)  shewwrer Hleph&sn wHnD HlogsMe] wanasatc erhHuHeusme

4)  s@Hewwrer Hleobhasn wHnb Hlodsfe] uramalasdle eru(eusme

Which one of the following natural hazards is responsible for causing highest human
disaster?

1)  Earthquakes
2)  Volcanic eruptions
3)  Snow-storms

4)  Tsunami

el sané@ WsiEUAL Sifloa aHLRESS gigL Gwihaasts GLflLi org)?
1) Heop@sésb

2)  erflemed GWbL

3) uefluywe

4)  PliGureae
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30.

31.

32.

The first Indian Satellite for serving the educational sector is known as :

1
2)
3)
4)

SATEDU
INSAT - B
EDUSAT
INSAT - C

seaill WilalnE 2-s6l Qelg s QbHw Deunanss Carer erg)?

1
2)
3)
4)

SATEDU
INSAT - B
EDUSAT
INSAT - C

All India Radio before 1936 was known as

1
2)
3)
4)

Indian Radio Broadcasting
Broadcasting Service of India
Indian Broadcasting Service

All India Broadcasting Service

1936-8@ e DewansSbdl eurblemmedl ereuelmm jenp&EsiLL L g)?

1
2)
3)
4)

@pdHw eurGemmad epedlLirLiLy
ealurliL Ceemeu - @bHwim
@58 gellurii Graa
SanansS B eedluriin] Ceaneu

India’s first Defense University is in the State of

1
2)
3)
4)

Haryana
Andhra Pradesh
Uttar Pradesh

Punjab

@ndwmeller (psed LITGISTLIL] LDOSMESPSED @) (HLILIS)

1)
2)
3)
4)

anflwrerm
<2pBET TGz
2 587 97Cseid

LI@h&mL
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33. The propounder of the teaching method based on play is

1)  Froebel 2)  Skinner

3)  Hurlock 4)  Pavlov
ellanemumig 6T eLpeOLD HHME (Penmullenen 6T (HSGIMTSHSeuT
1) OGprued 2)  evdleserm

3)  anmrers 4)  uTeue e

34. The teacher is generally teaching at
1)  Uniform level 2)  Bipolar level

3) Tri-level 4)  Multi-level
Qurgieurs < HNwnsear sHAGELL (pem

1) CGr&prar fleve 2)  @msimeu Hlene

3)  eperm Hlenew 4)  ueCeum Hleva

35. Evaluation in the context of Kothari Commission is
1)  Continuous process
2)  Unipolar process
3)  Stagnant process

4)  Process with multi-applications
Carssm @ pedar smagiLlg wAISEH aarLg)
1) Qer_iélwrer Qswdun(

2)  @GsIne dawdur®

3)  wpsTaT QFweLTH

4) ey Lwetur() @eneanThg ClFwdLIT(H
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36.

317.

38.

The Pioneer of Project Method is
1) John Dewey

2) Gardener
3)  W.A. Kilpatrick
4)  Weschler

Qe L apapuler (panGany.
1) smer GCau

2)  smTLerm

3) WA dour s

4)  Qeugvéeor

Mobile School was propounded by
1)  Froebel

2)  Tagore

3) John Dewey

4)  Mec. Donald

BRI Ldtalsaar aperaflmis e
1)  uw@gpmue

2)  smear

3)  agmen FGau

4) Qs QLmermed ()

Ex Post Facto research means

1)  The research is carried out after the incident

2)  The research is carried out prior to the incident

3)  The research is carried out along with the happening of an incident

4)  The research is carried out keeping in mind the possibilities of an incident

ergen Cumevl CusGLT < rmlFs eTemmmed

1)  sbusugdbEl Y@ < rmuss CopesmearearliL®dng

2)  sbuusSHDHE e Y TTES GonsrareriiLiBEng

3)  Fbuelb pLEGD Curg @ rmuss CoplsmerarliLBhEng

4)  wendled g FbUGUSI DS TN FTSI ST NG eneuSF 2 TTiIFES Cnbarerer iL(hE g
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39.

40.

41.

Formulation of hypothesis may not be necessary in
1)  Survey Studies

2)  Historical Studies

3) Normative Studies

4)  Experimental Studies

&(HIICHTET 2 (Haumssd CHameULILIL TS ,ul16|?
1) ereumiefNuieé

2)  eureorHwe

3) RUPEGIPED @i

4)  ufCsrgener @uwie

Which of the following is an example of negative correlation?
1)  Increase in population results in shortage of food grains
2)  Poor intelligence results in poor achievement

3)  Increase in height increases weight

4)  Poor working condition retards output

EpsarTLeupmIET ereneu eTHTaDS QST TLIEE 2 STrenTid

1)  wésdr Agreans odsfllume 2 are| sraflwnigafler LHDTEEGMmD
2)  @emeren LSSEmellSseaDd &6 neuTem FTSen e

3) o wTh 9FsMés cran idlafasdng)

4)  oaEsbD GDHS CeuamaulleTed LIQETEHET &6amnde

Which one of the following Statistics can be used to examine the ordinal scales?
1)  Geometric Mean

2)  Frequency Distribution

3) Median and Rank Correlation

4)  Mean, Standard Deviation and Correlations

Qemeupd yerafl elleupmigefley erg cuflansuiem oemeCamed wpepperw lie| el
vwetu®SSIUOS S ?

1) ey Frmse

2)  glnCleuer Lpeued

3) QL blene HMD ST Qemanmunay

4)  ggmafl, S alewssd LHMHID @) erarTine
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42.

43.

44.

Principle of better communication is

1
2)
3)
4)

Clarity of the message
Adequacy of information
Transmission of information

All the above

BeLe H&HeU LT M6 GETeTens

1
2)
3)
4)

Qgatleurar sseue
Coemaiwmen 55616
cllagwimisener LISITHe

CopClFmemer ieneTsg)Ld

E-mail mainly uses

1
2)
3)
4)

Computer Network
Portal Network
Television Network

Telephone Network

WP&E WS Lleneamepge Liwie(heg)

1
2)
3)
4)

What is the meaning of multiplexing in communication process?

1
2)
3)
4)

Sa6eue Qs panmuiled ‘LCem enoliLg QST ETEmLSHSTE HTHHD

1
2)
3)
4)

sewtlart euaneS0lSmLiTL
CuniLed cuen@selSmLiTL
Qsmane&sT & euameS6lSTLiTL

QgrenaCusl auamesElsmLitL

Link communication to computer

Process of linking many computers

Process of linking many computers so that only one channel may be used

Process of combining the transmission from several devices, into a single data

stream that can be transmitted over a single channel

seanflaflyLer s5616 CHTLTL @eneamTLiL
SiSls sanflaflsamer @) enemTdse

21815 seantlaflu|Ler @amansse el Cr e ssa16 euflensaml L6 (HSSISHE0

LCeum srsambisatadl(Hbgl CUMEm g QFiiglanw e Dameaeuilansuild SiailiLge

17
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45. Which one of the following is not treated as an obstacle in the way of effective
communication?

1) Long statement
2)  Aninadequate statement
3) A brief statement

4)  Statement which permits the listener to derive the conclusion

1968160 (THeUETEU HMIET 6T LILIGRIETET $&H6U8)&HEHS SenL s @)(HLriLdldane?
1) Bavr cumsdwid (Sidléens)

2) FRlwmer eurddw ienli9erento

3) &SI DS

4)  Galueiser SHRISET (Plganel T (NN LILIE)ETET S5H66

46. Insert the missing number :
12, 32, 72, 152, ?,632
1) 515 2) 613
3) 815 4) 312

ANPuLlL craranand CaégsHa b

12, 32, 72, 152, ?,632

1) 515 2) 613
3) 815 4) 312

47. A and B are brothers. C and D are sisters. A’s son 1s D’s brother. How is B related

to C?
1)  Father 2)  Brother
3)  Grand Father 4)  Uncle

A vpmb B @@meumbd sCGangrisdr. C wpmib D @meumb sGansflsgdar. D — e sCargpm A—er
waer eurt erefley B, C — &@; eretem 2-may?

1) our 2)  &Gangyi

3)  sEST 4)  omom

48. Find odd man out
1)  Skull 2)  Heart
3) Liver 4) Lungs
Getreu(peuareupiled QUTHBSTS CFTLMEE HTeTs.
D waror 6 2)  Gosubd
3)  sodre 1) mersyed
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49.

50.

51.

In a cricket match, five batsman A, B, C, D, and E scored an average of 36 runs.
D scores 5 more than E; E scored 8 fewer than A; B scored as many as D and E
combined; and B and C scored 107 between them. How many runs did E score?

1) 62 2) 45

3) 28 4) 20

e Fflsds Cumiguie 5 wleLwrearmsdar A, B, C, D wpmpid E syreflurs 36 penger
rhsfeamert. D, E eow el 5 geaer oidlsn. E, A eow 6l 8 e @evmay. B Gupdlmliug
D wpmib E — & gwwrer gar. B wpmib C 107 yer Garbgy er(ssent aremme E er(hss e
CTESHEN G ?

1) 62 2) 45

3) 28 4) 20

How many triangles are there in the following figure?

D 9 2) 10
3) 11 4) 12

D6 b LILSF60 eTdHanen (p&CaHTanThISET 2_6Teren?

D 9 2) 10
3) 11 4) 12

From the given four statements select the two which cannot be true but yet both can
be false. Choose the right pair

1) All men are mortal

1)  Some men are mortal

111)  No man is mortal

iv)  Every man is mortal

1) 1) andii) 2)  1iii) and iv)
3) 1) and 111) 4) 1) and 1v)

&G Qasr@ssiiul(Herar prang cursdwunsalld ebg Qe[ 2 amebLWTs @)([HSE (Pl UIg)
SETTED HEUDTE @) (5SS (pigu|id. sMlwimen Copmguilenensg GCsmib6ls(H&sHeLD.

1) T @S EHLD Lolgellf

1)  He welFT&er wigeum

1) b alSeD LlgUl (LPigUITg]

1v)  wallsT eeubeummeu(HLd ig el

1) 1) wpmid ii) 2)  1il) wHmb iv)

3) 1) woHmb iii) 4)  ii) wHmb iv)

19 MO0001



52. Which of the following represent one billion characters?
1) Kilo byte
2)  Mega byte
3)  Giga byte
4)  Tera byte
19 6tT6u (HeUETEUHMIET 6T 6p(h NeLaWIET 6T(LpSSI&EHmaTs ClETeanTL_g)?
1) HComenul_
2) QwsTeul
3) Dareul

4)  QLgmenul

53. In a computer a byte consists of

1) 10 bits

2) 4 bits

3) 8bits

4) 16 bits

semtlewtlufled ep(h enLIL eTemLIg)
1) 10 Giger

2) 4Gl s

3) 8 liser

4) 16 49 s6r

54. 1If 12345671586 stands for TERMINATION’ what number does 371586 stand for?

1) MOTION
2)  NATION
3) RATION
4) NOTION

12345671586 erarigy TERMINATION’ eranmpmed 371586 eremiigy eTenss @Ml @0 ?

1) MOTION
2)  NATION
3)  RATION
4) NOTION
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55.

56.

57.

In which of the countries per capita use of water is maximum
1) India

2) USA

3)  European Union

4)  China

safl wefllgs sarart T LWGLITH 6THs BTl g 6) HSHSLD?
D @pun

2) 2/Qwf&s BrHser

3) aCrmibw priser

4) e

Identify the air pollution in urban areas which irritates eyes and also respiratory
tract of human beings?

1)  Particular matter
2)  Oxides of nitrogen
3)  Surface ozone

4)  Carbon monoxide

B&IT LmEisefle wefllgrsatien s whmiD p&as G amer LITSlsdlern srhm omsLm) erg)?
1) EOu@lL Qummer

2)  apLymer samen ()

3)  gCGsmer ULeLD

4)  srTuer Gureamsamev ()

Which of the following combinations represent renewable natural resources?
1)  Oil, forests and tides

2)  Fertile soil, fresh water and natural gas

3)  Clean air, phosphates and biological diversity

4)  Fishes, fertile soil and fresh water

Epssanteneugailed org LgIL108655m1q L1 QUIDnS auaTdmss GHESH nE)?
1)  eramQentis, STHSET, H®ESHET

2)  euemwer wekr, griewwrer Bif, GubHens eury

3)  &sswrer sTHn, LmevGUL HmID 2 uldlflwie wrmyum@

4)  Senger, apTeuaTid HMILD FMlientowimer Hit
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58.

59.

60.

In mega cities of India, the dominant source of air pollution is
1)  Transport sector

2)  Thermal power

3)  Municipal waste

4)  Commercial sector

@ndwmeller QL psrmEisaie) STHM LISFLHUSDE L& (PSS STFenTLd?
1)  Cums@eursg ey

2) e gy

3)  B&rs sy

4)  Nwmumrl Gfey

The University which telecasts interactive educational programmes through its own
channel is

1) B. R. Ambedkar Open University, Hyderabad
2)  Indira Gandhi National Open University

3)  University of Pune

4)  Annamalai University

sen Qanhs emaalflasuiiedr AgramasasT Suld saell HEpFS HBLSFID LOEMOSSHPLD 6T ?
1) Gy opCussnt Hnbsbeails LIOSMmOSSLHSLD, MADSTTLTS

2)  @pdlrr s Caslw fnbsbelafll LosmEsSLD

3) uGar ULEMOESHPSHD

4)  SBTETTDENGD LISEMESSLHSLD

Deemed Universities declared by UGC under Section 3 of the UGC Act 1956, are not
permitted to

1)  Offer programmes in higher education and issue degrees
2)  Give affiliation to any institute of higher education

3)  Open off-campus and off-shore campus anywhere in the country and overseas
respectively without the permission of the UGC

4)  Offer distance education programmes without the approval of the Distance
Education Council

w,ald Sl 1b 1956 Wifley 3-em Ly WpsLariu(BSsiLl L BTl LI&smessLpsnms S

TEHE A0S HlenL_wimg)?

1) 2wisoed aupmidl Ul Lb Qar(hsse

2) 2w el Hlneuahis@EhsE ieIbdl eULpEIE 560

3) wafullen gindulenil o eTBT g GeueflBriigaid HlimeueaThisT ClHmL_His
SADIH55D

4)  Qsrenegmrs soell Guwsdear aind @Qdomnd Ggramagins soell Hlapsssamar
GULPTRIGHS6
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